July 19, 2002

PHY 2005

Summer C, 2002

Quiz III

1. A real object is placed 15 cm form a converging lens of focal length 10 cm.   Circle the option you believe to be correct.  

The image is

	real
	enlarged
	upright 

	virtual
	diminished
	inverted


What is the magnification?
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 with p = 15 and f = 10 leads to q = 30cm.  Since q>0, the image is real, enlarged and inverted  (m = -q/p =  -2 tells you all that).    

2. A real object of height 0.5 cm is placed 20 cm away form a diverging mirror of focal length –30 cm.  What is the height of the image formed?


Now, using the same equation, we get q = -12cm.  Therefore m = - (-12)/20 = 0.6.

Since m = hi/ho, hi = 0.6(0.5 = 0.3cm. The image is virtual, straight and smaller. 
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